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P.T.O.

This question paper contains 3 printed pages]

YC—04—2024

FACULTY OF HUMANITIES

B.A. (Third Year) (Sixth Semester) EXAMINATION

NOVEMBER/DECEMBER, 2024

ECONOMICS

Paper–XI

(Mathematical Economics-II) (Opt.)

(Tuesday, 26-11-2024) Time : 10.00 a.m. to 12.00 noon

Time—2 Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Calculator is permitted.

(i)

(ii)

(iii)

1. What is analysis of variance ? Explain the techniques of analysis of variance.

10
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WT (    2    ) YC—04—2024

Or

Find the maximum and minimum values of the following functions.

(a) y = 2x3 – 6x + 10

(b) y = x2 – 10x + 7

2. How will you measure the distance between two points on a straight line ?

Derive the formula giving suitable diagram. 10

Or

Find the equation of the straight line, if y-intercep is 3 and slope is -4.

y- 3 -4

3. Define the maximum and minimum values and state the conditions for

maximum and minimum values. 10

Or

Find the slope of the line joining the two points (5, 3) and (2, 1)

(5, 3) (2, 1) 
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4. Explain the concept of cardinal utility function. 10

Or

Given the demand function q = 7–2p and price p = 1, find out the elasticity

of demand.

q = 7–2p p = 1, 

5. Write short notes on (any two) : 10

(a) One-way classification

(b) Concept of production function

(c) Given the total utility function

U = 20x4 + 7x3 + 13x2 + 12x + 9

Find out marginal utility.

(d) Find the distance between the two points (2, 5) and (3, 7).

(a)

(b)

(c) U = 20x4 + 7x3 + 13x2 + 12x + 9 

(d) (2, 5) (3, 7) 
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